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Examiner’s comment. Part (a) required spec A to be to be translated to
a condition on the velocity error constant. Many candidates did this incor-
rectly, which affected the rest of the question. Many candidates successfully
designed a suitable lead compensator to meet the specs. Part (b) was gen-
erally well done with most candidates knowing the correct procedure even if
the calculation didn’t always get to a correct value for the bound. Part (c)

was done correctly by relatively few candidates.
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Examiner’s comment.
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Part (a) was fairly standard and correctly exe-

cuted by most candidates, however, many did not spot that there is a zero
at s = 0. In part (b) most candidates produced a correct Bode diagram
but then had difficulty drawing the corresponding Nyquist diagram. In part
(c), candidates who had correctly identified the zero at s = 0 were able to
give a good answer to (i). A number of candidates failed to correctly apply
the Nyquist stability criterion in part (ii), however, there were many good

answers.
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Examiner’s comment. Part (a) was straightforward bookwork which most
candidates wrote down correctly. Part (b) was solved correctly by a major-
ity. In part (c) candidates often failed to apply the initial value theorem
correctly and also to draw the correct conclusions from the derivations of
part (b). Nevertheless, a good proportion of candidates had grasped the es-

sential points.





